. Anshu correctly remembers that his sister's
b'day is before 20th but after 15th Oct. but her
father correctly remembers that his daughter's
b'day is before 17th Oct. Anshu's sister's b'day
falls on which cay ?

(1) 19th Oct
(2) 16th Oct
(3) 18th Oct
(4) 15th Oct

Sink is to float. In the same way, Destroy is
to:

(1) Enemy
(2) Alive

(3) Peace
(4) Create

. Author is related to Book. In the same way,
.................... isrelated to .................. .

(1) Human, Society
(2) Engineer, Building
(3) Mason, Building
(4) Fruits, Tree

. Which of the following has the same relationship
as that of 'PS': TW' ?

(1) JM:RQ
(2) AD: DI
(3) AD: EH
(4) FC:ZE

. Which of the following will come in the place of
question mark in the given series ?

BYA, CXB, 2, EVD :
(1) DVE
(@) bCw
(3) DxB
(4) bWC

1. Y %1 AR # 7 ST qE 1 T 20 TR

TER Y 15 ST $ AR A ¢ | 3 faa A
# 5 39 o3 #1 9=ufed 17 Sea ¥ wEe S
2 | ¥Y] W A H TwEA fmw s # 2

(1) 19 I1wRT
(2) 16 7R
(3) 18 AT
(4) 15 sz

. ZEM Gafya ® FE 9§, 3 yer faaw mafud @

(1) 37
(2) e
(3) wnifa
(4) T

. q q-a:faﬂ % ‘fa‘l_dﬁ' .@j g.q'.‘l. TR ey

(3) TR, A
(4) wE, 7T

g afEad PS O TW' & o= fagaam gy

1 HAY 2
(1) JM:RQ
(2) AD: DI
(3) AD: EH
(4) FC:ZE

5 = & M duen § v faw # WA W =W

S 2

BYA, CXB, 2, EVD
(1) DVE

(2) DCW

(3) DXB

(4) DWC



In Questions 6 - 8, select the alternative whichis ~ T¥ 6 - 8 ¥ & fraea gfT Wt o @ ¥ =

different from others 3~ o

6. (1) 729 6. (1) 729
(2) 343 (2) 343
(3) 576 (3) 576
(4) 512 (4) 512

7. (1) 1764 7. (1) 1764
(2) 1875 (2) 1875
(3) 1321 (3) 1321
(4) 1542 (@) 1542

8 (1) HMNG 8. (1) HMNG
(2) VQRU (2) VQRU
(3) KDPJ - (3) KDPJ
(4) SUVT (4) SUVT

9. When Amir saw Manjeet, he recalled that he is 9. HHR 4 W4 WA ® 2@, A IW A% avn fE
son of the father of the mother of his doughter. 7 3EH 2 F T & fom = A= ¥ 1w
Manjeet is Amir's - e 21
(1) Brother-in-law (1) |w=n
(2) Brother (2) wié (wm)
(3) Cousin (3) wré [frvd 3T )
(4) Uncle (4) ==

Questions 10-14: Complete the given seriesineach W9 10 — 14 W& o ¥ & Tt s@em &t qui

questions F

10. 50, 55,61,68, ... 10. 50, 55, 61,68, .............
(1) 81 (1) 81
(2) 80 (2) 80
3) 75 @) 75



1.

12.

13.

14.

15.

144, 121,100, 81, ...
(1) 80

@ 72

(3) 64

(4) 60

ZA13, YB15, XC17 oo
(1) WC 19

(2) WD 18

(3) WD 20

(4) WD 19

BNQ, CMR, DLS ............

(1) FOT

(2) EGT

(3) FGT

(4) EKT

MAHENDRA, MAHENDA, MAHEDRA
(1) MHENDRA

(2) AHENDRA

(3) MAHNDRA

(4) MAENDRA

3 out of 4 words are alike in some way and form
a group. Which one doesn't belong to the group ?

(1) Tyre
(2) Engine
(3) Speed

(4) Fuel

1.

12.

13.

14.

15.

144,121, 100, 81, ...

(1) 80

(2) 72

(3) 64

(4) 60

ZA13,YB15, XC17 ...
(HYWC 18

(2) WD 18

(3) WD20

(4) WD19

BNQ, CMR, DLS .............

(1) FOT

(2) EGT

(3) FGT

4) BT

MAHENDRA, MAHENDA, MAHEDRA
(1) MHENDRA

(2 AHENDRA

(3) MAHNDRA

(4) MAENDRA

v § 83 TR ¥ 3w g TN ¥
frefaferddasnmaEafme?

(1) ==
(2) T
(3) fa

(4) 3



o (v 16 - 18) : FETEA W Ul |,
Ay s o fmw # M E A wE T
TYE UE I WA E A v oA % femd e=

Directions : (Questions 16 —18) : In each of
the following questions, four groups of three words each
are given. Only one group in each question does not

share the underlying principle thatcombinesthewords.  fo=1 # | 31 =gz =1 22w -

Find that group -
16 (1-) Arm, Hair, Legs 16. (1) =fe, =@, 2
(2) Car Tyre Steering (2) ¥R, 2FR, B
(3) Tree, Leaf Trunk (3) Tz, uAR, A
(4) Universe, Solar System. Galaxy (4) FwIE, TN HvEw, HafEh
17. (1) Orange Pineapple Sweet lime (Mausmbi) 17 (1) =97, r=rs, S
(2) Mango, Plum, Peach (2) 9™, JFEEm, a?T{
(3) Banana, Guava, Grapes (3) F=n, sER, AR
(4) Melon, Watermelon, Cucumber (4) =g, ATgH, @M
18 (1) India, China, Japan 18. (1) wwa, 91, I9A
(2) Canada, Mexico, Australia (2) ===, wiwgs, st
(3) SouthAfrica, Kenya, Zimbabwe (3) =faqmr sy, @, Faeares
(4) United Kingdom, France, Spain (4) TEZE fETEm, wig, =1
19. Race - Fatigue 19 Bz a5, re—
(1) Fast: Hungry (1) 3999 : 4@
(2) Fast: Energy (2) 3" : FA
(3) Fast: Food (3) 37EH : @
(4) Fast: Fatigue (4) I9ETE : FESA
20. Penology : Punishment : Seismology : ............ 20. AT : T < WAt
(1) Law (1) =
(2) Earthquake (2) =9
(3) Liver (3) o
(4) Medicine (4) =



(Question21 to 26) : Choose the odd one out : o 21 — 26 : W 3T @ fu= &, 5@ wf -

21. (1) Steel 21. (1) =
(2) Copper (2) dfan
(3) Bronze (3) i
(4) Brass (4) @
22. (1) Seismograph 22. (1) HrowmTE
(2) Earthquake (2) g9
(3) Cyclone (3) =A™
(4) Tsunami (4) gATH
23. (1)K 23. 1)K
@) = @) =
Q) ¢ () e
@) $ 4 3%
24. (1) Bhopal 24. (1) «rae
(2) Mumbai (2) g%
(3) Hyderabad (3) BemER
(4) Allahabad (4) TeETER
25. (1) 145 25. (1) 145
) 120 (2) 120
(3) 90 \ (3) 90
(4) 105 (4) 105
26. (1) 67 26. (1) 67
) 79 ) 79
(3) 69 (3) 69
(4) 97 (4) 97



27

28.

29

Amit is now 6 times as old as his son. Four
years from now, the sum of their ages wil; be 43
years. Determine Amit's present age :

(1) 30years
(2) 32 years
(3) 34 years
(4) 28 years

A man starts walking in south & walks for 7 km,
then turns left & walks for 2 km., Then, once
again turns left & walks for 12 km, turns left one
more time & walks for 2 km. How much distance
he has to cover to reach the starting point ?

(1) 7km
(2) 12km
(3) 4km
(4) 5km

A i1s 3 times more efficient than B. Hence, he
takes 60 days less in painting a room. In how
many days, work will be completed, if A & B
both work together ?

(1) 30 days

(2) 45 days

(3) 22'% days

(4) 17% days

Directions : For Questions 30-31. Complete the

series using one of the alternatives

30

31

Bulgaria, Ecuador, Germany, Norway ... .
(1) Russia

(2) India

(3) Afghanistan

(4) Africa

2197, 2744 3375, 4096 .....

(1) 4761

(2) 4232

(3) 4913

(4) 3291

27

28

29

30

31

A7 F1 I T [ H IWH 6 TR | W
AR, ITH! IY F A 43 | 7 Swm | s F1
FAYH IH qEREC

(1) 30 @@
(2) 32Tm@
(3) 34 7@
(4) 28 9@

UF T 3 2fem F e wo e e s 7 e
di. ¥ | 38T AR AW q2E7 2 fE e o sww
% UF a7 57 am gzw 12 e 9 w m
77 = g7 2 fodl. =en 1 s anivs g w
vz # fom 39 faaeht iy e et 2

(1) 7w
(2) 12f%.
(3) 4fw
(4) 5T

A B B A T sfiys mem # | W2 wF FW H W
FA 60 A Fm s 2 1 afz A 3 B 3 o w1
w1, A e fel W

(1) 30f=

(2) 45

(3) 2%

4) 17%f=

e : weT 30 | 31 & o fRu o faweni #

HEEa | Een w1 gl Hifs |

(1) &8

(2) WA

(3) srEmiTEH

(4) s
2197,2744,3375,4096 " |
(1) 4761

(2) 4232

(3) 4913

(4) 3291



32.

33

35

Arrange the words in the correct order :
(A) Tissues (B) Cells

(C) Organ System (D)Body (E)Organ

(1) BACED
(2) CCAB.ED
(3) AECDB
(4 BAECD

If the position of the letters in the word
‘GOVERNMENT' are re-arranged in such a way
that the position of the 1st & 2nd letters are
interchanged, similarly the position of the 3rd &
4th letters are interchanged & so on. Which of
the following will be the 3rd from the right end
after the re-arrangement ?

(1) M
@ F

. A girl facing north turns 90° in the anticlock

direction & then turns 45° in the clockwise
direction & then again turns 135° in the anti
clockwise. Which directions is she facing now ?

(1) South
(2) East
(3) North
(4) West

The ratio of boys to girls in a schoolis 5: 2. The
number of boys is more by 450 than that
of girls. How many students are there in that
school ?

(1) 650
(2) 1060
(3) 400
(4) 950

32, TE w9 § o

33.

35

(A) Fas
(C) 3 &=

(B) =ifera
(D) ¥ (E) 3

(1) BBAC,E D
(2) CABED
(3) AECDB
4) BBAECD

Az ‘GOVERNMENT' ¥1= & &l & 39 @
H: =afeed f i wed a7 T A ® e
a7E ¥ wmE fu S A e yEw Ao e a6
smrs | Fue fau 9w 7 s o et e e e
H | FH-T A G A F AR 3 E A e
T A 7

(1) M
2 F
@V

(4) R

UF TTH IT FIen F AR TE@ R | A 90° "L
1 farera foeen (U3 aemes argst) ® 2t @ 2w ag
1 faon (77 A1) § 45° T | TS TWER q®
T 135° T F ferwdta fw (U g A) @
oH T | 3 e fEw R # e dm w2

(1) =fam
(2) T
(3) =W
(4) wfe=m

UF e W oEd 7 orEfEAl w1 A S : 2 F |
TEFI HI TEn wEfFA ¥ 450 Afuw ¥ | = o
Fel T H W e € 2

(1) 650
(2) 1050
(3) 400
(4) 950



36.

37.

39.

40.

Atrain travels 92 4 km/hr. How many metres will
it travel in 10 minutes ?

(1) 15400
(2) 1540
(3) 154

(4) 15.40

Giventhat . x + y—2z + 100 = 350. If x = 2y and
y=2z thenz="7?

(1) 30
2) 50
(3) 70
(4) 90

Srawan spends 20% of his monthly salary on
food, 40% of the remaining on house rent &
balance amount spends on other items of routine
expense. What is his yearly salary if he spends
Rs. 5760 per month on other items of routine
expenses ?

(1) Rs.1,20,000
(2) Rs. 2, 44000
(3) Rs. 1,44,000
(4) Rs.1,54,000

If the simple interest on a certain sum of money
@ 4% for 5 years is Rs. 800, find the sum.

(1) Rs. 4,000
(2) Rs.9,000
(3) Rs. 12,000
(4) None of the above

The weight of a sand bag is 40 kg. In a hurry it
was weighted as 40.8 kg. The error percentage
is :

(1) 1%
(2) 0.5%
3) 15%
@) 2%

10

36.

37.

39.

40

AW R4 ER mEH R
10 Tz o fmm ey ma w0 7

(1) 15400
(2) 1540
(3) 154

(4) 15.40

AR i x+y-z+ 100 =350 7Af x =2y 3w
y=2z, ﬁ]z:?

(1) 30

(2) 50

(3) 70

(4) 90 _

gAY 39 e 399 § | 20% 99T W =" w5
2, = 79 g F 40% W F fFI0 W s e de
o & WS W | THH WA AT #4 2, afE A4w

Rs. 5760 w1 We Ismd 1 =sil ™ &4 F2 3
L

(1) Rs.1,20,000
(2) Rs. 2, 44,000
(3) Rs. 1,44,000
(4) Rs. 1,54,000

gfz TuEw =9 Rs. 800 #1 3 4% wfrad #1 97
WS T & forw suR form o @, @ g@ WA
T HIfAT |

(1) Rs.4,000

(2) Rs. 9,000

(3) Rs. 12,000

(@) svdw ¥ A w1 &

TFEA A AR o FEm e S A =
91 40.8 FF.7. =191 T g = wfeem 2

(1) 1%
(2) 05%
3) 1.5%
@) 2%



41

42.

45,

1

The product of two positive numbers is 120 and
the sum of their square is 289. The difference
between them is :

(1 7
@ -7
@) 2

@) 14

IfA:B=6:7andB . C =89 Find the value of
C:A?

™ 3

16
) 2

21
®

@ 3

0.525 x0.525-0.275x 0.275
0.525-0.275

The value of
s

(1) 05

(2 06

(3) 04

(4) 08

The smallest number which when reduced by 7
is divisible by 12, 16 & 18 :

(1) 199
(2) 223
(3) 295
(4) 287

In a class of 250 students, 75.8% took French
and 49.4% took Latin. How many students took
both French and Latin ?

(1) 189.0
(2) 1230
(3) 630
(4) 900

41, = TS dEds F1 AT 120 # 1 3% W =
Wz 289 2, Al I HEMH T FWE |

(17
@ -7
3) 2
(4) 14
42 Az A:B=6.73MB: C=8:9%,AC:A®

oH FE w0 2
9
(1) 5

16

(2) 2

21
(3) T
6
@ 3

0.525 x0.625 -0.275%0.275
0.525-0.275

43 TR

(1) 05
(2) 06
3) 04
(4) 0.8

44, =F TEQ TR TEN WM 7 WH W 12, 16 I 18 |
W%’:

(1) 199
) 223
(3) 295
(4) 287 :

45. 250 fenféra 1 Fan H 75.8% 3 W MW 49.4% 3
#fes wmm =t | fra faenfimi 3 w9 s @fem 2
qrTe = |
(1) 189.0
(2) 123.0
(3) 63.0
(4) 0.0



Directions : For questions 46 — 49. Read the

statements & choose the letter of the region which
correctly represents the statement.

&

v —> History

46 Students who took science but opted neither
maths nor history

—> Science
* Maths €

(1) b
@) e
(3) d
4 g

47. Students who took maths & history both :

1 c

(2) a

(3) e

@ g

Students who took all three subjects i.e. maths,
history & science :

1 f
@ 9
3) e
4) d

49. Students who took science & history both :

Mg
@ e
@) f
4) d

12

Prdwr : w9 46 — 49 Frerfafias woAi # R T
ITY T & A AR F FUA I TR FA a6 T

IR |
&

—»sﬁm

46. 3 faenedi, foei fasm foan, oig = @ whm
. & gy

(1) b

—> famm
o €«

(2) e
@) d
4) g
3 foemeff, fomet™t nfore qen sfer 21 foran 2
(1) c

47.

) a
3) e
@) g

3 faenedl, faei™ o, sfoema aen famm 1 fawai
?ﬁm%:

(1 f
2 g
@) e

48.

(4) d

3 foeneft, foein famm o sfoem < fawal =1 formn
2

(1 g
@ e

49.

@) f
4) d



50.

51.

52.

53.

Solve the following problem :
27+3(4+5)-17+9x2

(1) 7
2) 81
(3) 82
(4) 69

In a basket, %th of the total fruits are apples,

%rd of the remaining are peach & the rest 300

are oranges. Find the total number of fruits in the
basket.

(1) 2000
(2) 2400
(3) 3000
(4) 3600

12 men can complete a piece of work in 16 days.
How many days will 4 men take to complete the
task ?

(1) 60 days
(2) 45 days
(3) 54 days
(4) 48 days

In a certain code ‘'Them' is written as ‘1234’ &
‘WHEN' is written as '5238'. How is ‘'MENT'
written in that code" ?

(1) 3418
(2) 3481
(3) 4381
(4) 4318

In a certain code language, ‘'NOTE' is coded as
‘OPUF". Similarly, 'TASK' is coded as ‘UBTL'
How will ‘CORE’ be coded in the same code
language ?

(1) BNRE
(2) PSFD
(3) DSFP
(4) DPSF

50. fr=fafas aaen #1 &= Fifew :

51.

52.

53.

54.

27+3(4+5)-17+9x2
(1) 71
(2) 81
(3) 82
4)

wF AF0 A, 7 Bl %m’mﬁti‘.mﬁaﬁ

Tl 4 @ 2 i o g #, 7w A 300
v T ¥ | A H @ T wEl w5 Se 9.
I |
(1) 2000
(2) 2400
(3) 3000
(4) 3600

12 =afFa wF w8 1 16 A ¥ g w@ # 1 4 =R
e Tl I L.F

(1) 60f=

(2) 45

(3) s54fz

(4) 48fza

fedt 2 § ‘Them' =1 1234’ foren 9 % 3
‘WHEN' #1'5238' feran = # | 35t %1z 5 ‘MENT’
1 %9 foman smom 2

(1) 3418

(2) 3481

(3) 4381

(4) 4318

fadt w1z § ‘NOTE' #1 'OPUF’ foan wmn & &
‘TASK' %1 'UBTL' foren s # 1 36t %12 § ‘CORE’
=+ f&g wer feren smom ?

(1) BNRE
(2) PSFD
(3) DSFP
(4) DPSF



55. Which one is in the descending order in the
following ?

(1) 6/7, 4/5,3/14, 7/9
(2) 6/7,4/5,7/9, 3/4
(3) 3/4,7/9, 415, 6/7
(4) 7/9, 314, 6/7, 4/5

In a row of twenty five children Raman is 14th
from the right end. Varun is third to the left of
Raman. What is Varun's position from the left

end of the row ?
(1) Eighth
(2) Ninth
(3) Seventh
(4) Tenth
57. How many such pairs of letters are there in the
word ‘RAZORS’ each of which has as many
letters between them as in the English alphabet
series :
(1) None
(2) One
(3) Two
(4) Three
Directions : For questions 58-61 Refer to the
following pie charts & answer. Other Dry
Proteins elements
16% 14%
%
Water
T0%
Distribution of protein Distribution of elements
in human Body in human body

58. Whatis the ratio of the distribution of proteins in
the muscles to that of the distribution of proteins
in the bones ?

(1 1:2
2 2:1
(3) 1:18
(4) 18:1

14

55 1= 4 9 #F-m fawey st wm A 2 2

(1) 617, 4/5, 3/4, 7/9
(2) 617,415,719, 3/4
(3) 3/4,7/9, 4/5, 6/7
@) 719, 3/4, 6/7, 4/5

25 TeA #1 HAF H T A0 W 148 A W@ # |
TENSH FAR G TS a4 AR R w R
FAW F A AN { TE F TGE FA FHIAC |

(1) s

(2) i

(3) WAt

(4) =Hi

7= ‘RAZORS' & 7vif % fom w2 1§ €, s
e 3o ¥ avl € frad aisht aviaren § 3 Aol B
TR

57.

(1) =ré &

(2 w=

@ =

@) =

o : wow 58-61 % foru fer o W w0t 2@
fau o weA ® 3w Fifsw

weR

ERk
16% T 14%
X
U
]
70%
qEE -YAR § 9T qEE-YAR § ol
= fgam =1 famro

58. WEH % Wil sin sfggal § famm =1 741 srum
2?2

(1) 1:2
(2 2:1
(3) 1:18
(4) 18:1
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59. What percentage of the total weight of the human

60.

61.

62.

63.

body is equivalent to the weight of the skin in the
human body ?

(1) 16

2) 0.16

(3) 0016

(4) Insufficientdata

To show the distribution of proteins & other dry
elements in the human body, the arc of the circle
should subtend at the centre an angle of :

(1) 120°
(2) 54°
(3) 108°
(@) 252°

What is the quantity of water in the body of a
person weighing 50 kg ?

(1) 35kg
(2) 120kg
(3) 71.42kg
(4) 20kg

Pointing to a boy, Mamta said, “he is the only
son of my father-in-law’s only child.” How is the
boy related to Mamta ?

(1) Brother

(2) Daughter

(3) Son

(4) Husband

Complete the series : 5, 6, 10, 19, 35, ...
(1) 50

(2) 60

(3) 40

(4) 70

59 =AW F FE 9N F fFaw wfavm 99 e #4
TFMFTAL?

(1) 16

(2) 0.16

(3) 0.016

@) I swg

T AR H WA 3R 9= g e 1 fae 79
% foro 7 @t am %= W fFad 3w =1 w5 e 2

60.

(1) 120°
(2) 54°
(3) 108°
(4) 252°

61. FT¢ 7= foma a9 50 . ®, 39wt =1 =en
Ll

(1) 35f®m.
(2) 120 f&m.
(3) 71.42fFm.
(4) 20f®m.

62. TE TEH FI R TUN F U HEA A FE1 “qw W
TG F THAW [ 1 THAN 72 ¢ |" 7 T
T E fFmfm g ?

(1)
(2) #
(3) &=
(4) dfa
63. *f@en F [ A : 5,6, 10, 19, 35, ——— |
(1) 50
(2) 60
(3) 40
(4) 70



Directions : For questions 84-67 Read the data

carefully & answer the questions.

LAP BUT CAR SON HID
(New words to be formed may or may not

necessarily be meaningful Englis words).

64. If the positions of the 1st & the 3rd alphabets of

65.

67.

each of the word are interchanged, which of the
following would form meaningful words with the
new arrangement ?

(1) HID
(2) SON
(3) TUB
(4) CAR

If the given words are arranged in the order as
they would appear in a dictionary from the leftto
right, which of the following will be 4th from the
left ?

(1) LAP
(2) BUT
(3) CAR
(4) SON

Which alphabet is one same place in two words
given in the question ?

(1) u
@i
(3) a
@ n

If second alphabet in each of the words is
changed to next alphabet in the English
alphabitical order, how many words having no
vowels will be formed ?

(1) One

(2) Two

(3) Three

(4) More than three.

16

fdw - v 64-67 F foe o Mo iR TS

9% 3 IW 3|

LAP BUT CAR SON HID
(7 v SIS a1 eyl vz w i w2

o )

64.

65.

67,

A% FoIF 9% F e & e Avi o ¥ awe
o wm, A fr d | FR-m v= T sdy v=
T ?

(1) HID
(2) SON
(3) TUB
(4) CAR
afE = i AU EE F FTHR A F 2 T
fom s, @ FH-w v W @ wten whm 2

(1) LAP
(2) BUT
(3) CAR
(4) SON

fou mu fe 2 vl § - F0 99 WA W
272

(1) u
@) i
(3) a
(4) n

AfE WF VR & qHL 01 F S FURIE Y, U
Fuigren # 3re 7l ¥ ufafia w2 fom oo, =@ famt
T v e o w9 e?

(1) =
2 @
(3) =
(4) 9 | =@



+

68.

69.

70

T

72.

If ‘road’” is called “water”, “water” is called “ice”,
“ice" is called "Sugar” & “Sugar” is called
“bowl". Then, on what the vehicles move ?

(1) lce

(2) Bowl
(3) Sugar
(4) Water

Arrange the following according to dictionary and
determine the one at 4th place

(1) Zamaica

(2) Zidane

(3) Zeast

(4) Zinedine

In a 729 ml mixture milk and water are in the
ratio of 7 2. How much quantity of water should

be added in the new mixture so that the ratio of
milk and water becomes 7 : 3 ?

(1) 72ml
(2) 81 ml
(3) 85mi
(4) S0Omi

The total surface area of a cube is 384 m. Its
volume will be :

(1) 343m?
(2) 616 m*
(3) 512m*
(4) 660 m*

When the price of TV set was increased by 30%,
the no. of TV sets sold decreased by 20%. What
was the effect on the sales ?

(1) 8% decrease
(2) 8% increase
(3) 4% decrease

(4) 4% increase

S/73 UPC/12—MAT-X—2.

68 ‘qﬁ“m” 35!“"3‘!’:1"33‘[ m' umnm"u#n

69.

70.

71.

72,

(ared) "' e 9, A AT fFe w7
(1) aF

(2) 9= (F37)

(3) =t

(@) ==

FTS VEEN & AN W § o0 F uvEn =™
TYM T RE-T W AT ?

(1) Zamaica

2) Zidane

(3) Zeast

(4) Zinedine

w729 el s g A U 7 2 F AR A E
9H g # fera AT faed S a7 3 aE
F1HAIE 7 ;3 B AW 7

(1) 72 fa=
(2) 81fa=
(3) 85 =
(4) 90 fa.=.

ol =9 1 Rl UN8 AAEE 384 AHE ¥ | THEA
A fean g 2

(1) 343 =i’
2) 616 9.’
(3) s124"
(4) 660 .

v F.4. d2 1 5T 30% T2 o e, w| A, w5
fat ¥ 20% #1 FH 3 | FH faw W e
gz ?

(1) 8% %™
(2) 8% 3%
(3) 4% ¥
(4) 4% g
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Directions for Questions 73 to 74 : Select the v v 73 - 74 & fog : 39 famsg =1 gf
alternative which correctly depicts how a paper will St fddt FrTE F TR AT AT W WS WM W e
appear, when it is folded along the dotted line ? L

73. 73.
. & oA =

f
;
)

(1 A (1 A
2 B 2) B
(3 C (3) C
(4) D 4 D
74. 74.
pr—— -~ - "l .___.r— - |
) | ( }
] . S ) < |
ol ST S By et D
. B ™
P

(1A M A
2 B ) B
@) C (3 C

4) D 4 D
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Direction : In Question 75 to 80 select the answer fodor : w7 75 | 80 ® 33 IW WA (1,2, 3
figure (1, 2, 3 or 4) which has the same relationshipto a1 4) =i gfu foms o= dat sl a s a1 =i 5
the third figure which is between the first two figures fa . % o o & 7 = nfaai F 9
on the left of sign :

75. 5.
LY [ajyfeet| M 1Y | |Ra[rYfes12 ]y
€1|% 26 **hé |12 €|% 26 28[*"he lig
\ (=
O fafa] @ s RV P P I e
39 3¢ So|3¢ 39 3¢ So|3¢
4
™) Y2 [y Y 29 |30 ) Y2 | yy 8% 29 |30
¢ [y¢ 3y |32 ¢ |42 3y |32
76. 76.

Ol [@ 1o Ol [& o

(3) )} (3) (v
@ |® @ |®




)
(9

m %:
P

(v)

m {}‘ %

V%
¥

AN\

A B

N/
F N

&
¥

i

(v)

A

(2)

(2] (@@

(v)

£

[

(®»
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80.

>

)

I

¥
A

»

81. Observe the die given below and answer

W

N

f o2l

- s

Which number is opposite 3 ?
(1) 1
(2) 2
(3) 4
4) 6

If the total number of dots on opposite faces of a
cubical block is always 7, find the figure which is

correct ?
(»)

Q)

82

)

Q
Y

81. e fed ™ T W W@ T IWMA :

¥ &7
o

(N
¥
o

Q
0

(y

(3

I S
)
3 F A BE-H FE 2
(11
(2) 2
(3) 4
(4) 6
82 UF WA WF T HWA-HIEA F1 Fm gE 7w\, @ A=

7 M AR 9 WE SH 9\ 0

(’—)




=

-

Prder : w9 83-84 § uF w1 = Hiew T B
T} | 37 I ey 7w v # e wm
BT T S feard 3m 2

83.

Direction : In Questions 83-84 a paper is folded
mdacutismade.SeIecmealtamﬁvewh%conawy Lo

depicts how the paper will appear when it is opened ?

d0<d 0| FHOOQ
Qnuonu © o @
o o
0
40« o] |do og Q00 9 oie
- > N N
_ll....!n!ﬂ(_ - o <
_ L) - —
S b el b 4 J | € °© o o® %%
' < &) j > o
lao! ' -~ ! °
rA...._ll..lllkLO aod| |Ig© Y j‘ .m o O (P
~ 3 e ~
e 2 3 2 9
d0<q 0| JHOOQ
0© ©o®°
40 O |[do 0q @ w 0 I
sy \I/ QO.O. 000
- £ L -
- o
il i m 940490 < O < o
wl_ - |O
_.I.OIAW_I.IIL Q 9 o o
04| . OoOOD
2 2
~ ~
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Directions : In Questions 85-90, complete the frdwr . dem 85 — 90 ¥ 3W IWM IR (1, 2,
given series by choosing the appropriate answer (1,2, 3 W 4) %t g 3t 5 & ¢ arpf jaen ® [ wdt

3or4). t:
85. Problem Figure 85. T SFfa
BIX| (6] O8] (O]
Answer Figure IW AF
O (=X OQ (=] X
W B (1> ) W Vv (1
86. Problem Figure 86. Tw=m FfA
r N NVA
%E % { PIN| | A ¢
Answer Figure IW IFM
RER (KRR
DN /N I\
DTN RS O » & O
87. Problem Figure 87. TwEm wfa

QlH| B DLl B

Answer Figure IW HAF

A O Al T O

G v @®» W 0) ‘B [ ¥




88 Problem Figure

NIEAIE:

Answer Figure
© +©|H @
N Sl XD (M)

89. Problem Figure *

A o] @] ?

Answer Figure

®® ©E

a) » G (v

90. Problem Figure

==

Answer Figure

L[ [

24

I HAF
XAEIT
W) ) 13

89 =wEm sFf
alg|al?

T gt

©8|®e

) (» ) (w

90. Tw=n AFA




